

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLU 8133U

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER (CONSISTENT)	DISTORTED	1,055.50	1,055.50
2	FRONT BUMPER SIDE RETAINER LH & RH @\$87.10 (CONSISTENT)	DAMAGED	174.20	75.00
2	FRONT BUMPER SIGNALLAMP LH & RH @\$419.50 (CONSISTENT)	N/S CRACKED	839.00	155.00
2	FRONT BUMPER SIGNALLAMP COVER LH & RH @\$65.30 (CONSISTENT)	CRACKED	130.60	130.60
2	FRONT BUMPER SIGNALLAMP WIRELESS LH & RH @ \$281.60 (CONSISTENT)	NOT NECESSARY	563.20	-
2	FRONT BUMPER FOGLAMP LH & RH @\$465.80 (CONSISTENT)	N/S CRACKED	931.60	293.00
2	FRONT BUMPER FOG LAMP GARNISH LH & RH @\$71.80 (CONSISTENT)	N/S CUT	143.60	71.80
1	FRONT BUMPER LOWER GRILLE (CONSISTENT)	DISTORTED	124.20	124.20
2	FRONT BUMPER LOWER GRILLE CAP LH & RH @\$51.00 (CONSISTENT)	MISSING	102.00	102.00
1	FRONT BUMPER REINFORCEMENT (CONSISTENT)	DENTED	590.10	590.10
2	FRONT BUMPER REINFORCEMENT BRACKET LH & RH @ \$110.20 (CONSISTENT)	NOT NECESSARY	220.40	-
1	SET FRONT BUMPER REINFORCEMENT PLATE (CONSISTENT)	NOT NECESSARY	120.80	-
1	FRONT GRILLE (CONSISTENT)	CRACKED	589.00	589.00
1	FRONT GRILLE LOGO (CONSISTENT)	NECESSARY	71.00	71.00
2	FRONT GRILLE CHROME LH & RH @\$176.70 (CONSISTENT)	CRACKED	353.40	353.40
2	FRONT GRILLE BRACKET LH & RH @\$35.10 (CONSISTENT)	CRACKED	70.20	70.20
2	FRONT GRILLE BRACKET PIN @\$18.90 (CONSISTENT)	DAMAGED	37.80	37.80
2	FRONT GRILLE BRACKET PIN GROMMET @\$19.10 (CONSISTENT)	DAMAGED	38.20	38.20
1	FRONT GRILLE UPPER GARNISH (CONSISTENT)	CRACKED	351.40	351.40
2	FRONT HEADLAMP LH & RH @\$3871.00 (CONSISTENT)	CRACKED	7,742.00	7,196.00
1	FRONT HEADLAMP PANEL RH (CONSISTENT)	NOT NECESSARY	355.00	-
2	FRONT HEADLAMP BRACKET LH & RH @\$55.40 (CONSISTENT)	NOT NECESSARY	110.80	-
1	FRONT BONNET (CONSISTENT)	DENTED	1,259.00	1,067.00

Report Ref No. CC4/ASM22012332/Apa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	FRONT BONNET HINGE LH & RH @\$81.00 (CONSISTENT)	NOT NECESSARY	162.00	-
1	FRONT BONNET STAY (HOLDER) (CONSISTENT)	NOT NECESSARY	55.00	-
1	FRONT BONNET WEATHERSTRIP (OUTER) (CONSISTENT)	NOT NECESSARY	60.80	-
2	FRONT FENDER LH & RH @\$417.50 (CONSISTENT)	BUCKLED	835.00	835.00
2	FRONT FENDER INNER SHIELD LH & RH @\$185.50 (CONSISTENT)	NOT NECESSARY	371.00	-
2	FRONT FENDER STAY LH & RH @\$151.50 (CONSISTENT)	NOT NECESSARY	303.00	-
1	FRONT FENDER WHEEL HOUSE RH (CONSISTENT)	NOT NECESSARY	786.10	-
1	FRONT SUPPORT PANEL (CONSISTENT)	CRACKED	477.00	477.00
2	FRONT SUPPORT PANEL SIDE BRACKET @\$58.00 (CONSISTENT)	NOT NECESSARY	116.00	-
1	FRONT UPPER SUPPORT PANEL (CONSISTENT)	NOT NECESSARY	150.00	-
1	FRONT SPARE TANK (CONSISTENT)	DEFORMED	161.20	161.20
1	FRONT WIPER TANK (CONSISTENT)	NOT NECESSARY	243.00	-
1	FRONT ENGINE LOWER COVER (CONSISTENT)	TORN	161.00	161.00
1	FRONT WIPER GARNISH (CONSISTENT)	NOT NECESSARY	321.00	-
1	FRONT RADIATOR (CONSISTENT)	DENTED	1,101.50	1,101.50
2	FRONT RADIATOR STOPPER LH & RH @\$18.00 (CONSISTENT)	NECESSARY	36.00	36.00
2	FRONT RADIATOR BRACKET LH & RH @\$13.00 (CONSISTENT)	NECESSARY	26.00	26.00
1	FRONT RADIATOR FAN MOTOR W/COWLING (CONSISTENT)	CRACKED	989.00	780.00
1	FRONT AIRCON CONDENSER FAN MOTOR (CONSISTENT)	DAMAGED	785.00	480.00
1	FRONT AIRCON PIPE-CONDENSOR TO COOLING COIL (CONSISTENT)	BENT	274.10	274.10
1	FRONT AIRCON PIPE-CONDENSOR TO COMPRESSOR (CONSISTENT)	NOT NECESSARY	278.30	-
1	FRONT AIRCON PIPE-COMPRESSOR TO COOLING COIL (CONSISTENT)	NOT NECESSARY	191.40	-
1	FRONT CONDENSER (CONSISTENT)	DENTED	977.40	977.40
1	FRONT BUMPER TOP COVER (CONSISTENT) (ADDITIONAL)	NOT NECESSARY	564.80	-
2	FRONT BUMPER LOWER GRILLE TOP COVER LH & RH @ \$65.00 (CONSISTENT) (ADDITIONAL)	NOT NECESSARY	130.00	-

Report Ref No. CC4/ASM22012332/Apa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT GRILLE LOWER CHROME (CONSISTENT) (ADDITIONAL)	DAMAGED	196.80	196.80
1	FRONT GRILLE LOGO BRACKET (CONSISTENT) (ADDITIONAL)	BENT	267.50	45.00
1	FRONT LOWER SUPPORT (CONSISTENT)(ADDITIONAL)	CRACKED	198.26	198.26
1	AIRDUCT ( (CONSISTENT)ADDITIONAL)	CRACKED	697.50	92.00
1	AIRDUCT TRIM (CONSISTENT)(ADDITIONAL)	CRACKED	327.20	55.00
1	FRONT INTAKEMANIFOLD (CONSISTENT)(ADDITIONAL)	CRACKED	987.50	558.00
1	AIR CLEANER BOX (CONSISTENT)(ADDITIONAL)	CRACKED	317.00	317.00
1	FRONT SUPPORT PANEL TOP PLATE (ADDITIONAL)	BENT	185.00	185.00
1	FRONT BUMPER REINFORCEMENT COVER (CONSISTENT)(ADDITIONAL)	DISTORTED	98.00	98.00
2	HORN @\$79.00 (CONSISTENT)(ADDITIONAL)	DAMAGED	158.00	158.00
	LESS 10% DISCOUNT		-2,896.14	-
	LESS 20% DISCOUNT		-	-3,916.69
			26,065.22	15,666.77
	SPECIAL NETT ITEMS			
1	SET FRONT BUMPER CLIPS (SN) (CONSISTENT)	NECESSARY	100.00	30.00
1	SET FRONT BONNET INSULATOR CLIPS (SN) (CONSISTENT)	NOT NECESSARY	100.00	-
1	SET FRONT FENDER INNER SHIELD CLIPS (SN) (CONSISTENT)	NECESSARY	100.00	30.00
1	COOLANT (SN) (CONSISTENT)	NECESSARY	120.00	50.00
1	SET FRONT CAR PLATE WITH COVER (SN) (CONSISTENT)	MISSING	70.00	70.00
			490.00	180.00
	<u>LABOUR</u>			
	TO REMOVE & REPLACE CONDENSER AND RADIATOR .		120.00	120.00
	TO REMOVE THE AFFECTED PARTS & FITTINGS TO COMMENCE REPAIRS AND REPLACED DAMAGED PARTS.		2,400.00	1,200.00
	TO SUPPLY PAINT MATERIALS ,EXPANDABLE ITEMS & PUTTY,RESPRAY PAINT ON PARTS REPLACED.		1,600.00	800.00
	TO REMOVE AND REFIX WIRING AT DAMAGED AREAS .		120.00	30.00
	TO PERFORM ANTI RUST TREATMENT ON AFFECTED AREAS .		80.00	50.00

Report Ref No. CC4/ASM22012332/Apa3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO CONDUCT WATER SEEPAGE TEST .	NOT NECESSARY	120.00	-
1	TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT /CONTROL UNIT ,RESER MEMORIES TO SPECIFICATION ETC.	NOT NECESSARY	210.00	-
			4,650.00	2,200.00
	GRAND TOTAL		31,205.22	18,046.77

RECOMMENDED COST OF LUMP SUM REPAIRS		14,400.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC4/ASM22012332/Apa3q2



**ADRIAN LING WAI PING** 

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.